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1. Let the national —income model be @
Y=+ i (C—Cousumption, Y=Income,! - Investment, |
Cea+rhlF -1, G=Covernment Expenditure, 1=Income Tax) 7
Fee+dl 'f-';'f
{a)ldentify the endogenous variahles. | o #‘!
(1) Write the model in malrix notation and test whether the coetficient matrix 15 5
nonsingular. o B ':
(¢)Solve the system by Gauss-Jodam reduyction method (¥ ,C.7T) e

(d)Find ¥, G, ﬁ%ru Interpret their meaning and determine thewr sign. (20%)

2.

For the matrix
n 2 2

A=17 0 2
22 0

(a) Write the characteristic equation and eigenvalues.
(b) Find the eigenvectors corresponding to the plgenvalues
(c) Diagonalize A by an orthogonal matrix. {20%)

3.

5.

b.

{dhil; j‘rr*"';d}dr ﬂ'jl]ir.]nxu‘.r

A consirmer has utility function
TS

And she faces the money-income constraint

2x, +3x, =100
And the time constraint

¥, ~4x, =80
Solve for her utility-maximizing consumption bundle and the values of the shadow
prices of the constraints. . {15%)

Given production function Q=LK

(a)How would you express algebraically the Isoquant [or the output of 2607
(b)yWrite out the slope of the Isoquant.

() Write out the profit function of the firm.

(d)Find the first and second order condition for the optimal combination of inputs.

(¢)Find the comparative-static derivatives '"%, ,ﬁ%ﬂ ,%x
(L=lable K=capital ¥ = price of the product, , = price of L, £, = price ol K (20% )

Solve {(f+ iy +(y—1")dr=0 {10%8)

Evaluale

(15%)
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